Because the primary field is uniform and the conductivity distribution has spherical symmetry, the induced field outside the conductor ([image: image1.wmf]r

r

>
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) is a dipole field 
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whose moment M oscillates at the same frequency ( and along the same direction  
[image: image3.wmf]0

e

 as the primary field. The moment can therefore be written:
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so that Eq. 1 becomes:
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(2)

The parameters[image: image6.wmf]A

 and [image: image7.wmf]f

 are real numbers, which after Parkinson 
1983 are given by the complex equations:
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where [image: image10.wmf]k
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 has the dimension of a (complex) wave vector, [image: image11.wmf]J

m

 is the Bessel function of first kind and order [image: image12.wmf]m

.
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